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Introduction

These exemplar answers have been chosen from the
summer 2019 examination series.

OCR is open to a wide variety of approaches and all
answers are considered on their merits. These exemplars,
therefore, should not be seen as the only way to answer
questions but do illustrate how the mark scheme has
been applied.

Please always refer to the specification https.//www.
ocr.org.uk/Images/3385 13-specification.pdf for full
details of the assessment for this qualification. These
exemplar answers should also be read in conjunction
with the sample assessment materials and the June 2019
Examiners'report or Report to Centres available from
Interchange https.//interchange.ocr.org.uk/Home.mvc/
Index

The question paper, mark scheme and any resource
booklet(s) will be available on the OCR website from
summer 2020. Until then, they are available on OCR
Interchange (school exams officers will have a login for
this and are able to set up teachers with specific logins —
see the following link for further information http.//www.
ocr.org.uk/administration/support-and-tools/interchange/
managing-user-accounts/).

It is important to note that approaches to question
setting and marking will remain consistent. At the same
time OCR reviews all its qualifications annually and may
make small adjustments to improve the performance of
its assessments. We will let you know of any substantive
changes.

© OCR 2020
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Any question which asks the candidate to‘analyse’can be best answered using the three-step approach. For each answer, the
examiners are looking for 'knowledge’ ‘understanding’and ‘analysis/impact’ This approach is clearly shown in this exemplar.

For the first benefit, the knowledge is that primary research will be “up-to-date” Understanding is shown by the phrase, “it allows the
business to know about the current trends” The impact on the business is the chance of gaining more customers/increased sales.

Bensfit 1-.2C1ONQCU....(2LQrGH. 18 mare.. henefieiad. ..
FOP.. Q... BPECILPLL. . PUBLIEAD. . SURCE . D

NLAD.. ENEMS.. a0GE.. 150 COIEr e O O
o Tl TA T oW Y1 LT

Benefit2 .COMUPELIQNS.. . NAME... YL EO.LNRO. . ACCEDD. L.
.t:.{:J.......t:k;.e_......(Te.fee,aﬁd?!ﬂﬁ...W....mmm&.e....ﬁmm....&.......

Candidates often miss out on marks for one of two reasons.

i) They do not give an impact on the business (or owner, in the case of a sole trader). The first part of this exemplar has the
knowledge (primary research is more specific for the business) and understanding (because it is based around your product). But,
where is the impact on the business - 'helps them’is too vague?

ii) They repeat themselves."Competitors have limited/no access”is knowledge but the attempt at explanation (competitors cannot
see it) is just repetition of the knowledge. The candidate needs to add to the knowledge, for example, by saying that as it your
private research you can decide on who sees it.



Explain why you need to consider the income levels of target customers when setting your prices.
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This question required a clear link to be made by candidates between the income of consumers and the price being set. This is an
example of a significant number of candidates’answers which recognised that consumer income was relevant, without making an
explicit link with the price being set.

Explain why you need to consider thé.income levels of target customers when setting your prices.
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Compare this very good exemplar with the first one. Notice how this answer is very clear that if price is too high then some
consumers would not be willing to buy the product.



State and explain two ways customer service could be used to attract and retain customers for
your business.

way 1. Lroduely 0ou\eAgR:

Explanation % nlfr ?@b ouners gaders {I‘iﬂd hﬂm ﬂ‘{x Fﬂb QWLS.QLH
bbt(ﬂﬂ_d ,f(n’} h‘U-Uu \ndxRan... umhm&rmhh,&qdmermd Mk, the busines {0k

pra umcd

Way 2 .. Qunteme. macagmgnk

Explanation \%ﬂ'l&bﬂ&mm LNGAGRS.. ath bhe P(’JT‘@CQ aunecs. ;%%y

vl be. abte b build a. ?nend_'@\...rel@hm Shag wilth. Caalmecs. I&o,ahn&}oto yal
cup\omess rfer fhe bumness: [4]

The specification lists three likely ways in which customer service can be used; product knowledge, customer engagement and
after sales service. This is an example of the many excellent answers which clearly identifies two of these methods and then
gives an explanation of how it could be used (rather than just repeating themselves). The question asked how customer service
can be used to “attract and retain customers”and this was something that many candidates did not attempt and so restricted
themselves to two marks.
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A common error on this question was for candidates to answer how customer service was ‘useful’ rather than how it could be ‘used:.
This suggests a lack of familiarity with the specification. This answer is typical of many of this type. Other common ‘wrong’answers
referred to how good customer service would help a business'reputation, especially via social media or review’ websites.
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As with Question 17¢, there were some excellent answers to this question which, when answered following the three-step
approach, were also very succinct.
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Even though this is only the third examination for this unit, it is already clear that there is some confusion between sole traders
and employees. Although many sole traders may have no employees, it is wrong to categorically say that a sole trader ‘will not’
have an employee. Hence, examiners cannot accept an answer which clearly states or assumes that a sole trader will have lower
costs or higher profits because they do not have to pay any employees.

On first reading, this answer may appear to be worth more than 1 mark. However, apart from (correctly) stating that a sole trader
can keep all of the profit, the answer contains material which is wrong (do not have to pay employees), confuses revenues, costs
and profit, and repeats itself about you keeping all of the profit.



{b) State and explain two benefits of obtaining capital via a business loan.
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Another common theme already clear from the first three examinations, is that candidates find questions about sources of
finance to be challenging. Often, as with this exemplar, answers are generally about the benefits of raising capital for a business

Both of these benefits would be correct, if the question was asking about raising finance, per se, but are not specific to the
benefits of using a business loan.



(b) State and explain two benefits of obtaining capital via a business idan.
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Another common issue with this question was the confusion shown by candidates between a loan and a grant. The two answers
in this exemplar would be correct for a grant but are wrong for a loan.
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The specification is clear that any questions about the three external factors can ONLY be about their impact on product
development. Hence, questions (and therefore answers) need to always be phrased in such a way. The first answer in this
exemplar shows this situation well, with the answer being written with regards to the overall well-being of the business (profit),
rather than the sales or even price of the new pet-care services.

The second answer does gain a mark for the impact on sales, but the explanation is only a repetition of this statement, rather
than an explanation of it such as, “more individuals are now unemployed so can look after their pets themselves!
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This exemplar is a rare full mark answer for this question. Not only are both points clearly about the impact on the product, they
are also well explained, with clear links to the predicted recession.



{b} Analyse one limitation for your business of carrying out all of the functional activities yourself.
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Although only a three-mark question, this answer should be approached in the same way as for Question 17c¢ and Question 20b,
as the command word is ‘analyse’

As with this exemplar, many answers scored two marks. Although it identifies and explains a limitation (in this case, the inability
for one person to carry out all functions) there is no impact on the business which was specifically required from the question.

(b) Analyse one limitation for your business of carrying out all-of the functional activities yourself:
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In contrast, this second exemplar considers the same problem but ends up with a clear impact on your business — it may fail!



State and explain three extension strategles which: you could use for your. pet-care business in |
the futufe.
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There were some excellent answers to this question about extension strategies. Some answers did not score as well as they could have
as the explanations were either a repetition of the named strategy or were unclear about HOW they would work for your business.

This answer is a good example of how to write succinctly and without repetition.

State and explain three extension sirategies whlch you could use for your pef-care-business in
the future.

Strategy 1 P\. = (MM

Explanation

Strategy 2 Fm‘“ﬂj—b‘%

;xp[anatlon W Wﬂ% 3‘(’}" '2\5670

Strategy 3 \/‘m% AMNLOILS
Explanatlon E\Nfl}
Wy e,

The specification identifies five possible extension strategies to choose from (although one of them, new packaging, was not
appropriate for this business.) When a candidate is asked for two (or more) answers in a question they must ensure the two they choose
are clearly different. The easiest way to achieve this is to choose answers from different bullet points in the specification.

In this exemplar, the first answer is an example of ‘adding value. However, the other two answers are both examples of advertising (or
promotional mix). In this situation, only one of these can be rewarded and examiners will always reward the ‘better’answer of the two.



Recommend which of these two advertising methods you. think should be used. Justify your
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As previously mentioned in Principal Examiner’s reports and last year's exemplar materials, the main differentiator in this last question is
the use of context. In some cases, this context may be quite limited. For example, this answer only contains context in the first few lines,
when referring to the fact that leaflets could only be posted in the “3-mile radius’, which is specifically mentioned in the context at the
start of Section B. This allows Level 3 to be rewarded for this paragraph, to recognise analysis which is in context.

The part of the answer about the website (not reproduced above) was completely generic, so only reached Level 2. However, the
concluding paragraph makes a justified (and context-based judgement) about using leaflets, as this is a local service. This qualifies for a
mark at the bottom of Level 4, as a judgement based only on contextual discussion of one method. If the discussion about the website
had been also contextual (for example, why use a method which may attract customers from all over the world when you are aiming at
a local market) then 8 marks could have been awarded.

Recommend which of these two advertising methods you think should be used. Justify your
answer. [8]
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About half of all answers gained 4 marks as, although they included very good discussions of the pros and cons of both leaflets and
websites as advertising methods, they contained no context at all.

This exemplar is one of the longest 4-mark answers which fully covers the advantages and disadvantages of leaflets and websites
but with no hint of any relevance to the business they have spent the last hour or so writing about. This is truly emphasised by the
conclusion — why would a start-up business with a 3-mile target market want to attract a wider audience using a website?
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